4.2-4 Test-CMM

Level KPA KP TPI
GOAL KeyArea
Level
1 = — = _
2 RM AC1l |[3C
AC3 |[17B
SPP ABL |[[18A
AB2 |[18C
AC2 |3D
AC3 ||11B
AC7 [[2A
AC10 [14A
AC13 |1D
AC14 |1D
AC15 |1C
VE2 [[14B
VE3 [[18C
SPTO AC2 ||1C2B
AC6 [[4B,18C
AC7 |[4B,18C
AC8 |[[4B,18C
AC12 |15B,18C
VE2 [|15B,18C
VE3 [[18C
SSM AC12 |3A17B
SQA [ISQA AC6 |[18C
AC7 ||15A,16B
SCM AC4 |14B,16B
3 OPF CO3 |[11B,18C
AC1 ||18C,19B
AC5 |[[15D,18C
AC7 |[[15D,18C
OPD AC2 |[[5B,17B
AC3 [[2B,17B
AC5 |[17C
AC6 |[17B
AB1 |[9C,17B
TP AB1 |[[12A
AC1 |[12B
AC6 [12B
ISM AC1 |[17D
AC4 [18C
AC5 |[17C
AC6 |[[17D




4.2-4 Test-CMM

Level KPA KP TPI
GOAL KeyArea
Level
AC7 |[17D
AC9 [18B
CO1 |[18B
AB1 |[18B
VE2 [[18B
VE3 |[18C
SPE AC1 |1B
AC2 |5B,17B
AC3 |[5B,17B
AC5 ||1D
AC6 |1D
AC7 ||1D
IC AC1 |[14C
AC4 |[14C
AC7 |[14C
PR AC3 |[14B
7 QPM ABL |[18C
AC1 |[[2B,17B
AC4 |I7B
AC7 |5B,17B
SQM AC1 |2B
AC2 |1D
AC3 |2B
VE2 [[18C
VE3 [[18C
5 DP AC1 |[16C
AC3 |[16C
TCM AB4 [[13A
) Ac4 |13C
AC7 |[13C
AC8 [13C
PCM AC1 |[18C
AC4 |118B
AC6 |[14C
AC9 ||15B,18C
AC10 |15D,18C




